ie) F i

T E i

[ | R RRE ! H 431 CEREERERERPES
]_E— -------- Nnm:mr -------------
=3

-2 -1 0 1 2 3
TP n (PCA to beamline)

a(d cot(B))

SN O [

el - HE 1 R

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT _original

—— DQM_TT__mod_modelsdeep_something3

—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24

aoa, ) (cm)

Ratio

08%

-2 -1 0 1 2 3
TP n (PCA to beamline)

0.9

0.g!

=2 -1 0 1 2 3
TP n (PCA to beamline)

z

o(d d.) (cm)

1072

1::

|
w

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


